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Abstract: In this paper, we derive the asymptotic formulas B;  (n) such that

0 -1
1
I — | -8B =0,
patd {[; kr(k + z)s) W(n)}

where Re(r + s) > 1 and ¢ € C. It is evident that the asymptotic formulas for the inverses of the tails
of both the Riemann zeta function and the Hurwitz zeta function on the half-plane Re(s) > 1 are its
corollaries. Subsequently we provide the asymptotic formulas for the Riemann zeta function and the
Hurwitz zeta function on the half-plane Re(s) < 0. Finally, we study the asymptotic formulas of the
inverse of the tails of the Dirichlet L-function for Re(s) > 1 and Re(s) < 0.
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1. Introduction

The Riemann zeta function {(s) and the Hurwitz zeta function {(s, a) are two important functions in
the analytic number theory. The Riemann zeta function has an intimate connection with the distribution
of primes, and the Hurwitz zeta function plays an important role in studying the properties of the
Dirichlet L-function. The properties of {(s) and {(s,a) have attracted considerable attention from
mathematicians.

In the past ten years, many mathematicians have been working on the tails of various zeta functions.
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For example, Xin [1] gives the asymptotic formulas of the Riemann zeta function with s = 2 and s = 3,

| \ k=n

o -1
1
[Z E) = 2n(n—1).

| \ k=n

(1.1)

Kim and Song [2] studied the inverses of the tails of the Riemann zeta function and derived results for
s 1n the critical strip 0 < s < 1,

i 1 - 2(1-2"(n—-1)*, ifniseven; (12)
ks ~2(1 =2'=%)(n -1y, ifnis odd. '

k=n

Lee and Park [3] dealt with the inverses of the tails of the Hurwitz zeta function when s >2, s € N, and

0 <a < 1, and derived
[«S) -1 s—1
1 .
E ~ E Ai(n+a), 1.3
(k=n (k + a)s) & .,(n a) (1.3)

where
& s=2+j
Apy=s—1, Aj==-> XAl x :( , )Bj,

I+j° J
=1
and B; is the Bernoulli numbers.
Ohtsuka and Nakamura [4] derived the asymptotic formulas for the tails of the Fibonacci zeta

function with s=1 and s=2,

=1 - F, ., if niseven, n > 2;

>l |= o (1.4)
= Dk F,»,—-1, ifnisodd, n>1;
i 1Y | FustFy =1, ifniseven,n > 2; (15)
LiF2] |\ FyiFy if nisodd, n > 1. ‘

More results associated with the asymptotic formulas can be found in [5-12], where Hwang and
Song [5] and Xu [6] study the tails related to the Riemann zeta function, Choi and Choo [7],
Komatsu [8], Lee and Park [9, 10] and Marques and Trojovsky [11] study the tails of the Fibonacci
zeta function, and Xu and Wang [12] studied the tails of Pell zeta function.

The above results reveal the relations between zeta functions and polynomials. From other
perspectives, these sums are the First Newton’s identity of an infinite polynomial with roots k™ or F*
for k > n; therefore, they also reflect the importance of Newton’s identities, which are elaborately
introduced in [13].

In general, the consideration is limited to cases where s € N* or s € (0, 1). Due to the application
of the estimate of the tails of the Riemann zeta function in various other problems, such as the upper of
the Dirthlet L-function, the average of many well-known arithmetical functions, and so on, we hope to
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generalize the results to the complex plane. For this proposal, in this paper, the generalized Riemann
zeta function R(r, s, t) and its n-th tail R,(r, s, t) are defined for Re(r + s) > 1, t € C by series

- 1 N 1
R(l’, S,f) = kZZI: W and Rn(r, S,l) = ; m,

and then we study the asymptotic formulas of R,(r, s, ) for r, s in the half-plane Re(r + s) > 1 and
t € C. In addition, inspired by the expressions of {(s) with 0 < s < 1 in [2], we can similarly estimate
the inverses of the tails of {(s) for Re(s) < 0. Similarly, we can derive the asymptotic formulas for the
inverses of the tails of the Hurwitz zeta function and the Dirichlet L-function L(1, y) for Re(s) > 1 and
Re(s) < 0. It is worth noting that the inverses of the Hurwitz zeta function and the Dirichlet L-function
possess new characteristics, and we obtain their dominant terms.

2. Preliminaries

Theorem 1. Let the function R(r, s,t) and the n-th tail R,(r, s, t) be as above, for any r, s,t € C. If
Re(r+s)—1>0,
we have
(Ru(r,5,0)™" = By, (n) + o(1),
where

B, (n)=bl, 0" bl ™ by Y

r+s—1 r+s—2 r+s

and the coefficients
b;eC(j=r+s—Lr+s=2,---,{r+s}

are constants determined by r, s,t as follows:

® _ _1-
b, ,=r+s—1,
b* =
r+s—1-k
r+s—1 . rt+s—1 .
s i S\ ko _ % i % r+s—1 . .
ky+p=k i=r+s=1-k| i (i’r’s+2+k1)(k2)t kl+zk:2=k i=r+sz—:1—k1 bi (i’r’s”*k')b’*“"“"z l._g:sik b7 [(epmirai) =451 ] (2.1)
ky20ky>1 iz{r+s—1) K ko=l iz{r+s—1) + iz{rs—1)
r+s—1+k r+s—l+k ’
for[r+s—-1]1>2k>1;

where [x] denotes the integer part of the real part of x, and {x} = x — [x].
Theorem 2. Let
|
gm—;E

be the n-th tail of the Riemann zeta function, then for all Re(s) < 0, we have

T3
G =rrt )

T%)Bal—&o(n) + 0(1),
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where
By _so(m) =b;n~" + bfs_ln_s_1 + -0+ br_s}n{_”

and the coefficients

b;eC(j==s,—s—1,--,{=s}

are constants determined by s as follows:

* o __ .
b*, = —s;
—s . -5 . .
D7 (g 2 )ik2— B} (jyohr IV S (. N
k1+§2:k i:—zs:—kl '('“”*kl)(kz) kﬁ%z:ki:—.zf:—kl ’(’”*"1) —sky i:lgy—kbi [Gest10) =9 rai) ]
pr = hzviexl ki ki dp>1 iz{-s) 4 2
—-s—k —s+k —s+k ’

for [-s] > k > 1;

and [x] denotes the integer part of the real part of x, and {x} = x — [x].

Corollary 1. Let
> 1
Za(s) = ;;:n E

be the n-th tail of the Riemann zeta function, then for Re(s) > 1, we have

> 1
6(8)= ) 5 = Bio() +o(D),
k=n

where
* L% s—1 * s=2 . * {s—1}
Bo,s,o(”) =b,_n" +b,_,n"" + + b{s_l}n
and
X _ o1
b, =s-1;
S (. s N bt b
i:;—k b; [(i—x+2+k)_(5_ )(i—x+1+k)] ky kg =k i=s1—k; i=s+l+k) /7 s=1-ky
% _ix{s-1} _ kykp=l ix{s—1} _
bl 4= STtk S_14k » for[s—1]2k=21

Corollary 2. Ifr=0,0<t=a < 1, and |s| > 1, we have

- 1
(s, a) = kZ oy = Bual) + o),

where
Bg,s,a(l’l) = bj_]’ans—l + b:_z,anS—z o b?s_l}’an{s—l}
and
by =s-1
2 - =1 _ -
N L T S i (Y (R R )
b:_l_k — k1 20kp>1 ix{s—1} S_1+I;€l,k221 i>{s—1) N oot} __ ’

for[s—1]>k>1.

(2.2)

(2.3)

(2.4)

(2.5)

(2.6)
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Now we start considering the asymptotic formulas for inverses of the tails of the Hurwitz zeta
function (s, a) for Re(s) < 0 and a = § €Q,p,qgeN, (p,q) = 1.
In combination with the following functional equation related to the Hurwitz zeta function [14]:

2I'(s) - 2
{(1 s, ’—’) == (s)s cos(7E - ”mp)g(s, @). @2.7)
q) (2ng)y 2 q q
For any positive integer n, write
n=q(l-1)+r
for some g > r > 1 and [, r € N,. The n-th tails of the Hurwitz zeta function for Re(s) < 0 are defined
by
r—1 q
P 2I°(1 — ) m m
n s T T A . m 1 =8 — |+ m 1 9, T 5
4 (s q) T ;a {11 s p ;a g s p
where

m(l=s) 27rmp)

a,, = cos
( 2 q

form=1,2,---,q.
When
n=qg(l-1)+1,

rewrite above n-th tails of the Hurwitz zeta function for Re(s) < 0 as

p\ 21 -5) < ( m)
El=r—— = 1-s,—].
gn (S, q) (271-61)1—‘9 £ amgl S, p

Theorem 3. Let function {(s, 5) and the n-th tail {,(s, g) be as above for Re(s) < 0 and p,q € Ny,

(p.q) =1
(i) Let n = q(l — 1) + 1 for some | € N, if

i ma,, # 0
m=1

holds, we have

o)) - 0.0
1 Qqmy T(1 = 5) Y. ma,
m=1

where

(71'(1 —5) 271mp)
a,y = COS -
2 q

form=1,2,--- ,q.
(ii) Let
n=q(l-1)+r
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forsomeqg>r>1andl,r e N, if

Zq:mam #0 and Zq:mam —qzq:am 0
m=1 m=1 m=r

hold, we have

-1 )
(én (s, g)) _ ’q“’ — "+ 0,7,
(27T‘I)vr(1 - S) ( Z ma, —q Z am)

m=1 m=r

where

m(l—s) 27rmp)

n = COS
¢ ( 2 q

form=1,2,---,q

Remark 1. Since Y)! _ a,, = 0 (see the proof of Theorem 3 in this paper), we observe that the result
(i) of Theorem 3 follows (ii) when r = 1.

Similarly, according to the following functional equation related to the Dirichlet L-function [14]:
k :
- . J
L(s.x) = k™ (5:9). 2.8
(5.) ;xu)é 5.7 (2.8)

where y is a character module k.

The asymptotic formula of the inverse of the Dirichlet L-function L(s, y) is trivial when y = y;
is the principal character module k. Therefore, we only consider the case for y # ). Similar to the
Hurwitz zeta function, the n-th tail of L(s, y) could be defined for Re(s) > 1 by

Li(s.x) =k [ S i (%2)+ 3 v (5 i)]
=1 J=r

where
n=k(l-1)+r

forsomek>r>1and/, r € N,.
When r = 1, we have

k .
(s.x) = k° YACEALR
Lu(s.x) (;m)a (s k)]

In combination with (2.7) and (2.8), for Re(s) < 0, we have

Lis,p) = K ix(j)é(s, )

. Z G )2F(1 —5) cos (n(l -5 27rmj)§(1 B S,@) 2.9)

(27k)1=s 2 k

k

k
=) Zx(j)aj,mg(l -57).

j=1 m=1

AIMS Mathematics Volume 9, Issue 6, 16564—16585.



where

16570
cos a(l—s) 2mmj

Aim = -

e 2 k

forj=1,2,--- ,kandm=1,2,--- ,k.

The n-th tail of L(s, y) could be defined for Re(s) < 0 by

r 1 _ u—1 r—1
L,(s,x) = 19

k
2-spl=sk IZ;-'_Z; X(j)aj,mghl (1
j=1 m=1 m=
j:

k k
- )+ + Z Z X(])a]mél( ) >
1= m=r Jj=u+1 m=1
where

n=k\(-1)+k(u—1)+r
forsomek>u>1,k>r>1,and,u,r e N
When r = 1, we have

(1l -s) <«
Liai1(s,x) =

S—sgl-s szl)((j)aj,mfz(l—s,%).

j=1 m=1
character module k

Theorem 4. Let the function L(s, x) and the n-th tail L, (s, x) be as above for x # x is the nonprincipal
(i) When Re(s) > 1, letn = k(I — 1) + 1 for some | € N, if

k
D ix()#0
j=1

holds, we have

_ s+l
Ly (s.0))" = —%

P+ 0 (7).
-21 x()
J:

(ii) When Re(s) > 1, letn = k(I — 1) + r for some k >r > 1, and l,r € N, if

k k
D) =k x()#0 and ) jx(j) #0
j=1

j=r
hold, we have

J=1

~ _k1+s
(L,,(S,)()) = X

I+ O (7.
Zl XD =k 2 x())
]:

j=r
(iii) When Re(s) < 0, let n = k*(I — 1) + 1 for some | € N, if

Jj=1 m=1
AIMS Mathematics
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holds, we have
—nk?
(L (5,))" = z [+ 0,(07),
2r)*T(1 - s) Z Z my(J)am

Jj=1m=1

where

n(l—s) 2mmj
a;, = cos -
- 2 k

forj=1,2,--- kandm=1,2,--- k.
(iv) When Re(s) < 0, let
n=k1=1)+ku-1+r

forsomek>u>1,k>r>1andl,u,r e N,, if

k k k k k k k
2.2 agm k| o+ ) Z X(ajn#0 and " > my(jaj 0
j m=r =1

j=1 m=1

hold, we have

—nk?

(Ln(s,)0)7" = 170+ 017,

Kok k koK
Qr)yT(l -9)| X Z:: my())ajm —k Z:: + 2 Z:: X(ajm

Jj=1m=1

where

forj=1,2,--- kandm=1,2,--- k.
3. The proof of Theorem 1

Before our proof, we first propose several lemmas.
Lemma 1. Forall s,t € Candn € N, if n > |t|, we have
s N S\ sk k
+1) = r.
(n+1) ; (k)”

Proof. Let
S N t s _ - t _ = S S
f(s):(n-i_t)_n(l-i_ﬁ) _nkgo(); _E (k)n ke

and the third equation holds for || < 1.

3.1

O
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Lemma 2. Forall r,s,t € C and Re(r + s) > 1, there exists a unique generalized complex coefficient
polynomial

r+s—1 * r+s—2 * {r+s}
rst(n) +s 11 +b+s N +- +br+s ’

where
bjeC(j:r+s—l,r+s—2,---,{l})

is determined by r, s, and t, subject to the real part of its order being greater than 0 and
(B, ,(n+1)= B, () 1n"(n+1)° = B, (n+ 1)B, (n) = O(n "2,

Proof. First, we assume

B, () =bjn' + b0+ + by 0"+ bpn®, Re(l) >0

satisfies
[Bi,(n+1)= B, () n'(n+1° - B, (n+ DB, (n) = O™+, (3.2)

Since the absolute value of the order of [B;  (n+1)—B;  (n) | n"(n+1)* is greater than |[r+s+{r+s}-2],
then we have the necessary condition (1): The order of [B; (n+ 1) — By (n) [ n"(n + )" is equal to the
order of By (n+ 1)B; (n).

In other words, we have [ — 1 + r + s = 2/, which implies

l=r+s-1. (3.3)
Then we rewrite
By, (n) = by, n"™"" '+ byon T4 by + Dby
with b7, | # 0, by Lemma 1, we have
n+1'= k¢ for n > 1.
(n+1) kz(;(k) i

Letn > 1, we have

[B.,(n+1)= B, (n)]n"(n+1)’

{ ’il bi(n+ 1) — ’il b;‘n’} n" i (;)ns_jtj
=0

i={r+s—1} i={r+s—-1}
r+s—1
= b: ( )n n ( _)tjns_j (3.4)
i= {Z; 1} Z Z J
P PRI ey
- r+s—2—k JoaS+r—j
= t'n
k=0 i=r+s—1-k (T+S—2 k) j=0
i>{r+s—1}

o r+s—1 .
Z Z Z b?(i - Sl+ 24 kl)(];)tkznzr+2s_2_k

1+k2 ki=r+s—1— kl
k1,ky=>0 i>{r+s—1}
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and
r+s—1 oo l r+s—1
, . = * ik .
B vgm= S 53 S
i={r+s—1} k=0 j={rs—1)
= - i [r+s—1]
:Z Z b;k( )n’”‘l‘k Z TR Al
| — -1 — s—1—j
G \imrs—1-k) ~ 55)
ix{r+s—1}
e r+s—1 ;
Sy 3 R
| — —1-= s—1-k s
Gy, \i—ts=1-k)

ki,k2>0 i>{r+s—1}

where [x] denotes the integer part of the real part of x.
Now we derive the necessary condition (2): The following system of equations has at least one

solution,
r+s—1

2 2

ki+ky=k i=r+s—1-k;
k1,k2>0  i>{r+s—1}

where k =0,1,2,---

i
i—r—s+2+k

S
ka

£

|

1

i

Jr+s—=2]and [r+ s — 1].

2

ki+ky=k i=r+s—1-k;
k1,ka>0  i>{r+s—1}

r+s—1

2,

i
b;
i—-r—s+1+k

]

|

)b;+s—1—k2’ (3.6)

By calculation, the system of Eq (3.6) is equivalent with

(r+s-1b;,
and
r+s—1 i
(r+s—1-kb',_,_, + Z b?(i—r—s+2
ki+ka=k i=r+s—1-k;
20jo>1 ix{r+s—1})
r+s—1 l
= Q2r+2s-2)b" + Z b
( )r+s—l—k Ni—r—s+1

k] +k2=k i=r+s—l—k1
ki k=1 i>{r+s—1}

= [br,, ,]* for k=0,

r+s—1

>

i=r+s—k
i>{r+s—1}

i
i—-r—s+2+k

|

+k1

el

|
o S

5 5
brysii, + Z b;

i=r+s—k
i>{r+s—-1}

(3.7

|

. by,
+ ky i—r—s+ 14k !

fork=1,2,---,[r+ s—1]. Combining with Re(r + s — 1) > 0, we can then derive the unique solution

of the system of Eq (3.6) as follows:

b, =r+s-1)#0

and

r+s—1

2 )

ki+ko=k i=r+s—1-k;
k1>0,k2>1 i>{r+s—1}

i
i—r—s+2+k;

S
ko

*

i

()

*

r+s—1
ki+ko=k i=r+s—1-k;
kiko=1 i>{r+s—1}

b; i—r—s+1+k;

1

(

3
)br+s— 1-ko

r+s—1-k —

r+s—1
> b
i=r+s—k
i>{r+s—1}

i—r—si+2+k) —(r+s- 1)(

r+s—1+k

(3.8)
i—r—sl+1+k

)

r+s—1+k

AIMS Mathematics
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wherek=1,2,--- ,[r+s—1].
So we derive the necessary condition of (3.2):

* A r+s—1 * r+s=2 . * {r+s}
Br,s,t(n) = Oy + br+s72n + + b{r+s}n (39)
with
* _ 1.
br+s—1 =r+s 1’
* —
br+s—l—k -
r+s—1 . r+s—1 .
pr( 5 )k2 ()b rel - -
k|+%2:k i:r+sz—:l—k1 l(l*)‘*s+2+kl)(k2) k]+%2:ki:r+sz—:l—k] 1(17r7s+1+k1) r+s—1-ky i:rg}_k bi [(ifr7;+2+k)_(r+s_])(ifrfst+1+k)]
k120kp=1 ix{r+s—1} kykp=l ix{r+s-1} + i>{r+s—1} .
r+s—1+k r+s—1+k ’
for [r+s—-1]>k>1,

(3.10)
where [x] denotes the integer part of the real part of x, {x} = x — [x].

Now we show that (3.9) and (3.10) are also sufficient conditions. If Eq (3.10) holds, the functions
[B*(n+ 1,1,s,t) — B*(n,r,s,t)]n"(n + t)° and B*(n + 1,r,s,t)B*(n,r, s,t) are analytic functions of n,
which means the series of k in formulas (3.4) and (3.5) are their Taylor expansion.

Then consider the following function

(B, (n+1)= B, (n)In"(n+1) - B, (n+1)B; (n),

the coeflicients of the first [r+s] terms are equal to zero, and the tail term is convergent, which proves
the Eq (3.2). O

Lemma 3. If for all r,s,t € C and Re(r + s) > 1, there exists a generalized complex coefficient
polynomial

r+s=2

* A r+s—1 * * *
Br,s,t(n) =Dyl + br+s—2’/Z Tt b{l}+]n + b{l}’

where
bj(j:r+s—1,r+s—2,"' AH eC

subjects to the real part of its order is greater than 0, and
(B, (n+1)= B, (n)]n"(n+1)° = B, (n+ B, (n) = 002,
Then, we have
i ; ) =B _.(n)+o(1)
L k' (k + 1) oo '
Proof. Using the equation
(B, (n+1)= B, () 1n"(n+1)° = B, (n+ 1)B (n) = O, (3.11)

AIMS Mathematics Volume 9, Issue 6, 16564—16585.
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Then, we have

Bron) kZ K+~ kZ [ Bl (k) B (k+1) Kk(k+1)p
i B, (k+1)— B (OIK(k+1)° - B}, (k+ DB, (k)
k=

y B, (0B (k+ DK'(k + 1)°
O(kr+s+ r+S}—2) (3 12)
:Z 3352 4 O(k3r+33) '

=n

=0 [n[r+s] kr+s ]

=0(—7)-

n[r+s]

Hence, we have

1
- _0 |
B:vt(n) ; k’(k + t)s (n’”—l )
and then
© -1
1 { |
0 | Brm)] = lim _
o (kz krik+ f)s] ) =1 3 ot o
k" (k+1)S st

H t(n) Z k’(k+t)°

= lim
n—oo

1 1
B; (n) kgﬂ 1 (k+t)s

1
. [r+s]
=1lim |O| =~
n—oo ;

nrts—1

=lim (O 1

B n1—>n:> nl—{r+s}

=0,
which is equivalent with

oo -1
1
——| =B + o(1). 3.13

This completes the proof. O

Proof of Theorem 1. Since Re(r + s) > 1 and series

- 1
kZ k(k + 1)*

=n

AIMS Mathematics Volume 9, Issue 6, 16564—16585.
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absolutely converges and is analytic in the half-plane Re(r + s) > 1. Then we have

(o]
k=n

1
Z m —0 as n— 00,
Let n > [#/, by Lemmas 1 and 2, these are unique generalized complex coefficient polynomials

s _pk r+s—1 * res=2 s {r+s}
Br,s,t(n) =D N + br+s—2n + + b{r+s}n ’

where
b;eC(j=r+s—Lr+s=2,---{l}

is determined by r, s, t and

* _ 1.
b, =r+s—1;
* —
r+s—1-k —

r+s—1 . r+s—1 .
b, S )k2— b )b R i -
Ky o=k imram1oky z(r—r—x+2+kl)(k2) k1+§‘2:ki:r+.§1—kl z(r—r—x+1+k1) r+s—1-ky ,‘=,§ka b[ [(H_fs’+2+k)—(r+s—1)(1.47;”,()] (314)
k120,ky 21 ix{r+s—1} kyko=1  ix{r+s-1} + i>{r+s—1}
r+s—1+k r+s—1+k ’

for [r+s—-1]=2k>1;

subject to the real part of its order being greater than 0, and
(B, (n+1)= B, () 1n"(n+1)° = B, (n+ 1B, (n) = O(n"*2),

Then, in combination with Lemma 3, we have
-1

= 1
E ——| =8B + o(1).
[k:n kr(k + Z)S] r’s’t(n) 0( )
This completes thhe proof. O

4. Proof of Corollaries 1 and 2 and Theorem 2

Proof of Corollary 1. If r = 0 and ¢ = 0, we have
R(r’ S’ t)lr:O,tZO = R(O’ S’ O) = {(S) and Rn(r’ S’ t)lr:O,t:O = Rn(o’ S’ 0) = gn(s)-
By Theorem 1, we have

1
L(5)= ) 5 = B+ o(1),
k=n

where
By, o) =bi_ 0+ b n T+ bfs_l}n{s_”
and
b, =s-1,
s—1 .
i:ik b; [(i—siZJrk)_(s_1)(i—sil+k)] kl%zk i:s_zl_kl b;‘("*”l”kl)bzflsz (4‘1)
b:—l—k _ izlsl) — _ kpkp=l izn—ns_Hk Cfor [s—1]>k>1.

AIMS Mathematics Volume 9, Issue 6, 16564—16585.



16577

Proof of Corollary 2. The proof of Corollary 2 follows from Corollary 1. O

Before the proof of Theorem 2, we introduce some basic preliminary properties that could be found
in [15].

Proposition 5. The Riemann zeta function {(s) satisfies

s [ I
fﬁgm@:anjfma—n (4.2)

Proposition 6. (1) The function % is entire and only possesses zeros at s = 0,—1,-2,---

(2) The function I'(s) is holomorphic for s € C except poles at s = 0,—1,-2,--- and I'(s) possesses no
zero.

Proof of Theorem 2. By Proposition 5, we have

l—s) 1
2 T3

o l-s 1 & 1
=gl )
72— )r(%) k; PAE

By Proposition 6, we have {(s) is entire in half-plane Re(s) < 0. Hence, for Re(s) < 0, we have

Z(s) = B2

{1 =)

1-s5_ 1
> )@fn(l )

l-s 1 =& 1
=7 § .
T2 ( 2 )r(%) £ kl_s

Lu(s) = w2

By Theorem 1, we derive

T3
W(8) =T —

& NS)

which completes the proof. O

By _,o(n) +o(1),

5. Proof of Theorems 3 and 4

Proof of Theorem 3. (i) We first prove
aj+ay+--+a, =0, (5.1)

where

(71'(1 —5) 27rmp)
a, = cos —
2 q
form=1,2,--- ,q.
For any complex variable s = o + it, we have
eis + e—is
Cos § = ———,

2
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and then .
n(l—s 2mm
a1+a2+~'+aq:Zcos( (2 )— p)
m=1 g
q
_ 12( Si(l-oN=- 272 =5+l a))+2”’"ﬂ’)
2 £ (5.2)
1 _ 2nmpi ermpt
_ Z(t+i(1-0)) v Z(t+i(1-0))
= 2 e? Z 7+ e 2 Z
=0.
Since !
——=1+0(e),
1+0(e) ©)

Lemma 1 and Theorem 1, let n = g(/ — 1) + 1, then for any sufficiently large positive integer [ > 1 and
Re(s) <0, if

holds, we have

-1 _ q -1
p\\ _ Qrp' m
(5”(““5)) = ari ) ;“’”5’(]”’3)]

e (b s
= 31 = | 5 2 m)ls]

V -1
= % N a 7% L
A= -;[(’” T ”
[ -1
_ (ZHQ)I_& = 1 a4 had s—1 m I
Bl - 5.3)
2 1-s 1 . (
=% Zkl—s artdy+ectdgt Zmam+0qv( )”
L k=[
_ Qg [ 1 (s-1 Y T
=T 9 kZ; = P ;mam + oq,s(z) ]]
_ Qrg)' © 1Y (-1 -1 X
T =g (; kH] ( 7 ;mam (1 + 0y, (;))
I-s
= ;l%,ﬂf) q % (1 _ s)ll—s + O(I—s)
( _s)(S—l) >, may,
m=1
e

= I+ 0,, (7).
] s
Qgr)sT(1 - 5) > ma,
m=1
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(i) Letn=¢g(l-1)+rforsomeg>r>1andl,r e N,,if

i ma,, # 0
m=1
and
q q
Z ma,, — q Z a, #0
m=1 m=r

hold, we have

-1 s r—1 q -
p Qng)'~ m m
n s = 31~ m 1 9, m 1 9,
(§ (S q)) (=) ;a Civ1 s p +;a & s p
-1
(an)lis ! ( m) ay ary] Aq
= —— Al 1—-5,—]+ p + p
2I°(1 - ) ; " q (l + 2)1 (l+ %) (+1)
-1
(27“1)17? N N A ay aril Qg
myl—s + -5 + —s -5
A - 9) k:zm ; (k+ ) (l + 5)1 (l+ ﬂ)l ¢+ 1)
q q
a -1
Qrg)'~* i i am - 14 mZ::r (2)™
201 —9) | Lo L (kv = S
o ’ k:zl-:i—lmZ::1 ™
-1
2 1-s _ — q m
(279) L= 0, |[1+ | L1 4 0,0 171 )] —"
A(1-9)| & ’ a ’ = (1+ m)l_s
Z_l ma,, Z_l ma,, m=r P
-l 5.4
(271' )l—s _ ~ » _ - q -
2m‘1_ 517 L1 4 0, () || 14| L= + 00| D] an + 0, (1)
>, ma, > ma,, m=r
m=1 m=1
p -1
_ q 2 an
(27T )l ’ - -5 —5 m=r —
2r(1q— 51 T =4 0,,a)||1 - 22—+ 0u™
m=1 m=1
»
ma
2 1-s - o o m= "
_ 2(rﬂ1q) L0, | (1+0a™)
( B S) 2_:1 ma,y, E_:l ma,, — 4 z_: am
2 1-s _
(27q) 4 1=+ 0(™)
2I(1 — ) & ki
2—:1 ma,, — ¢ Zj a,,
2
= ’;q I+ 0(™).
(27“1)31"(1 - S) ( Z—“l ma,, —q Z_: (2
O
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Proof of Theorem 4. (i) First of all, since y is a nonprincipal character mod k, we have

XD+ x (@) + -+ x(k) =0
Let
n=k(l-1)+1,
if
k
D () #0
j=1

holds, and the asymptotic formula of the inverse of the n-th tail of the L-function L(s, y) for Re(s) > 1
is as follows:

-1
(L(s )" =k [Zm)gn (s i))
-1
R 1
- ks(ZX(J)Z (,~+z)s]

@

=k

[)((1) X@ o x® )]

=1
Z i+ (z+2)f (i+1)
Lo @ x|
_k_,Z?((Hl)s (1+2y +<1+1_)sJ
-1
=k Z [X(1)+X(2)+...+X(k)— Z]X(])+OS’<( )J] (5.5)
i=l =

2 ,slﬂ]_l (—% Jzk; () + 0, (%)]
. k(sl‘+0(‘ ! )(1+0s,k(1))

I
-5 Z x()

J=1

©“

=k

- k_km P4+ 0y (1),

2 ix())
j=1

(ii) Let
n=k(l-1)+r

forsomek>r>1and !/, r € N, if

k k
D)=k x()#0
j=1 j=r
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and

k
D) #0
j=1

hold, we have

r—1 _1
Zx(j)ém ( /) Z ¥ s i)) ]
-1
. 1
ZiGvdy + ;X(J)IZ:; i f)‘)

(Lu(s, )" = [k_s

-1
e Z X)) ( X(rr)s+)((r:11)+,__+ X(k)s)]
i=l+1 j=1 (i + k)s (1 + §) I+ T)Y (+1)
-1
L zk: ()c(]))s
_ sl N x() jr
i=l+1 j=1 k >y X({).
i=l+1 j=1 ()
-1
. (5.6)
—k —k d
=k | ———F+ 0 (1) |1+ | ——F + 0 () (Z X (]3 )
3 () > () = (1+1)
j= j=
-1
" k 2 x())
= k|- Pt 0 (P)|[1 - ———+ 0 ()
2 ix()) 2 Jx())
j=1 j=1
= k' x * I+ O
- X X s,k )
X () =k 2 x()
J= J=r
_k1+s

= — I+ O ().
% () =k 2 x()
Jj= Jj=r

(iii) Let
n=k{1-1)+1

for some [ € N, if
ko k
3T mx(iam # 0
j=1 m=1

holds, in combination with

a(l—s) 2mmj
im = COS - ,
aj, ) X
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we obtain

Then, we have

(Lu(s, )" =

(iv) Let

I'(1 -
2sls

2-5xl- Sk
I'(l-s)

275715k
I'(l—s)

27515k
I'(l—s)

275115k
I'(1-y)

2_S7T1_Sk
(1 -s)
2—sn.1—sk
I'(a-s)

>

J=1

Jj=1 m=1

X ((1 — I+ 0(1-3))

—nk?

M»

3
I

1

k k
Z ZX )aj,mgl(l -9,

Qn)T(1 =) Z Z myx () jm

j=1m=1

j=1 m=1

k

k-1 &k
Xajn = D ) x(ajn =0.

1 (5.7)

k: k -1
Zmemam] (1+0.t™)
1

k

k

(1+0.0™)

(s=1) 2 X mx(ajm

j=1m=1

'™ + 041 (I7%).

n=k(I-D+k(u-1D+r

forsomek>u>1,k>r>1,and Lu,r € N, if

ko k
Z Z my(j)ajm # 0

and
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-1

hold, we have

r—1 )+ Z+jzi;1§ X(])ajmgl( E)

Jj=u

Ln S, 1- L
]_—l m=1 m——
-1

“T-y) L1 L
Jj=u
k k k X(j)a/m
IR oL
=5 pl=s k  k m -1 f;l:ur j=ut+1 m=1 (+%
= F(l _ ) (Z ZX(J)ajm(l-H ( s ;)] 1+ t &
j=1 m=1 21 Z]X(J)a]mé,“—l( -, k)
j=lm=
-1 (5.8)
k k k .
k Z + Z Z X(.])aj,m
2—.vﬂ,1—sk —k - y 31‘; Jj=u+1 m=1 |
o it b 1=+ 0™ ||1 - ——— + 0w
Z Z mX(j)aj,m Z Z m/\/(.])a]m
j=1m=1 j=1m=1
2k —k
= I+ 03 (I%)
T(1—3) " .
Z Z m/\/(])ajm_k Z + Z Z X(.])a]m
Jj=1m=1 m=r  j=u+l m=1
J=u
—nk?
= d 15 4+ 0,,(7).
k k . k k k .
Q2r)sT( - s) Zl 21 my(Najm—k| 2 + 'Zl Zl X(Dajm
=1 m= m=r =u+1 m=
J e J
O

6. Conclusions
In this paper, we derive the asymptotic formulas for the reciprocal sums of the Riemann zeta

function, the Hurwitz zeta function, and the Dirchlet L-function for Re(s) > 1 and Re(s) < 0
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